3.

First Term EXamination - 2024
Class : |x
paper: Social Science

MM : 80

Time : 3 hrs.
General Instructions:

i) Question paper comprises six section$¢A, B, C, D E and F There are 37 questions in the

questions paper . All questions are compulsory
ii) Section-A - From Q No. 1 to 20 are MCQs of 1 mark each.
iii) Section-B - Q.No. 21 to 24 are very short answer type questions, carrying 2 marks each

Answer to each question should not exceed 40 words.
iv) Section-C - Q. No. 25 to 29 are short answer type questions, carrying 3 marks each

Answer to each question should not exceed 60 words.
v) Section-D - Q. No. 30 to 33 are long answer type questions, carrying 5 marks each

Answer to each question should not ﬁceed 120 words.
vi) Section-E - Q. No. 34 to 36 are case based questions with three sub questions and are of

4 marks each .
vii) Section -F - Q. No. 37 is map based carrying 5 marks with two parts, 37a from History (2)

and 37-b from Geography (3 marks).
‘viii)There is no internal choice in the question paper. However, an internal choice has been
provided in few questions. Only one of the ghoices in such questions have to be attempted.

ix) In addition to this, separate instructions ar@given with each section and question, wherever

necessary.
(Section-A)
i R4 1x20 =20
Which period in the history of France is as ‘Reign of Terror' ?
a) 1793to 1798 b) 1793 to 1799 B30 1794  d) none of these
In the context to Russia, which group was! ,' ; supporter of women's suffragette movement.
a), Liberals b) Radicals ) Conservatives d) None of these

In the question given below there are two statements marked as Assertion (A) and Reason

(R). Read the statements and choose the correct option :

Assertion (A) : Karl Marx was a communist.
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eammunist BEEERLY WHS the natura) society

Reason (R) : He balieved the

i) Both A and R was true and R is the correct explanation of Assertion b
i) Both A and R was true but R is not ihe correct explanation of Assertion %

ii) A is true but R is false
iv) A is false but R is true

4. identity the option that arranges the follpwing events related to the French revolution in

the correct chronological order .

i) Measting of Estates general il) France becomes a republic

iii) Napolean becomes emperor of France
iv) A constitution is framed to limit the paw&,'-;ﬁ of the king

a)i- iv - ii - il b) fii- i = i = v Byl =i -y - d) ii = i i = Iv
S. Which one of the following lakes is a salt water lake ?
a) Sambhar b) Wular ¢) Dal d) Gobind Sagar
6. Match the following items in Column-A With Column-B and choose the correct answer

from the options given below : :
Column-A Column-B
i) Land boundary of India a)¥816.6 Km
ii) Total length of coastal line B) 2933 km
iii) West to east extension €) 8214 km
iv) North to south extension d)is, 200 km
a)i)b ii)c ii)d iv)a byisef 1-a iii- b’ iv-g’
c)i-c ii)-a i) b iv-C d)isd ii-b ii-a iv-C

o

1, The highest peak in the Eastern Ghe
’. a) Anaimudi b) Kanchenjunga ' ¢) Mahendragiri d) Khasi
| 8. In the question given below there areﬁg statements marked as Assertion (A) and Reason
(R). Read the statements and choose the correct option : |
Asserti n (A) : The.:a;ﬁaninsular rivers are seasonal.
Reason (R) : Their flow is dependent on rainfall. v

i) Both Aand F s true and R is the correct explanation of Assertion.
i) Both AMRMs true but R is not the correct explanation of Assertion.
iii) Ais true bUtR is false

iv) Ais false but R is true.
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) Tertiary sector ¢) Manufactunng
alka Wt w-d b) iC. #-a, #i-b D, =g, Hi-a
12. Income and are the two indicators usually relai=d to poverty
a) Educaton b) Consumption '{c Prices d) Wage rates
13 There are two statements marked as Asshition (A) and Reason (R). Read the statements
and choose the comect option given Do ioWR
Assertion (A) - Increase in unemploymenti§@n indicator of depressed aconomy
Reason (R) : People dependent on agr culture find jobs throughout the year
i) BothAand RwastrueandRisthe corr'f‘ xplanation of Assertion
ii) Both A and R was true but R is not the explanation of Assertion.
@) Ais true but R is false ;
iv) Ais false but R is true.
14. For how many days MGNREGA prowcv.? smpi:
a) 70days b) 80 days d) 100 days
15. m the following items in Column-~ and choose the comect

answer from the options given below

a) i-a, ii-c, iii-D

Whath of the e :\\-‘\!‘m Sasowr ?w m D
0) IT sy

OWING ONganiSatioN @t “ate e poventy line in India
nsttute ) ﬂa DI SUNVeY ONganisation
Ministry of Human Resources :nevuo&*'s "
National Human Rights Commission®
Match the following items and choos@the nght option given below
Column-A Column-8
Poamary Sector a) Banking
Secondary sector b) Agncuiture

cdiem of disguised unamployment ?
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Column-B

a) Mexico

b) Zimbabwe
¢) China
b) i-c. ii-d. fil-D
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Questions

1. Who overthrew a democratically elecled-gﬂvemmem?

2 What did referer f 2002 ar
Ahat did re dum of 2002 grant him @

3)

-~

How did the amend the constitution andwhat was according to it?

35 Read the given passage car !
given passage carefully and answer the questions given below -

‘Inability of educated people who are willing to work to find gainful employment impli
great social waste. Unemployment tends to increase aconomic overload. The quality of

lite of an individual as well as society Is adversely affected. The dependence of the

;_

unemployment on the working populatiofincreases.

s

1
1

a) What implies a great social waste?

|
\

X

b) What does unemployment tend to increase?
¢) Who is adversely affected by Unemploymentand who bears burden of unemployment?1+1

36. Read the following passage carefully and answer the questions given below-
Yet the Bastille was hated by all becausa it stood for the despotic power of the king. The

fortress was demolished and its stone fragments were sold in the markets to all those who
wished to keep a souvenir of its destruction. The days that followed saw more rioting both
in Paris and countryside. Mast people were protesting against the high price of bread.
Much later, when historian looked back upon this time, they saw it as beginning a chain of
events that ultimately led to execution of the king in France, though most people at the

time did not anticipate this outcome.
a) What was the date on which the people of the third estate attacked the Bestille ? 1

b) Why Bastille was hated by all ? i 1
c) What was Bastille and how the event had been seen by historians much later 2 4+1

(Section-F)
37. Mapwork |
37.a) Locate following places in the map of France.
a) Bordeaux b) Nantes
37.p Locate following places in the political map of India- (any three) 3
c) Chilika lake d) Karakoram ranges e) The highest peak of western ghat

f) A famous dam in Orissa




